+ Ellipse/Parabola/ Hyperbola Worksheet.
Parghie,  10.1 (Pg. 751) # (l 13) /15)16 18, (25>( 36, 41, 43, 43, 44, /45)\ 49.
I (P 730) 5~!O JQJ 20/19 2] &9 32(1 35 37 45 47 g 4‘7) 53

Bllipses  10.2 (Pg. 759) #  1~4, 8, 10, 19, 21, 23, /24 (31, 35, 38, 40, 49, 50, 54_ s
ilad (P. 739) 5 12 13 23 a5 > 4o 42 ¥ 53 ﬁLxsg % 59

Hyerbelo, 10.3 (Pg. 768) #  1~4, 11, 16, 18, 20, 21, 22)&144, 45, 46, Bonus 47, 48.
JUSYEANL L)) 5~ 16 19 40 .S 25 (6 %4%w'°¢g, 50 ®5) 52

- B L Hre T K o< - <
Teslde 104 (Pg. 781) #  13~18, L%L_\%QAPJ 28, 25, 27, 29, 30. 34, 238 *10
114 (P, 756) 19 ~22, ccng\gb f 823 a% 30 3] L}egenerg}g 39 1 e

» We will have time for some problems on Thursday. Quiz: 10,1~10.4

10.7 (Pg. 807)# 9, 10, 11, 12, 20, 21, 28, 29, 30, 35, 40, 45, 47~50, 62.

Farametric,

Bonus # 53, 58, 61.

. 10.5 (Pg. 791) # 19 N5(P164)#20 Rotghon of Axes

o 1{;1)) Use the discriminant to determine if it's an ellipse, etc. 12 ~24 5ty + n 33 +20 =0.
Q

= 1) Derive [x; y ]| = [cos -sin; sin cos] [X ;Y]

= and [X; Y] = [??7] [x ;Y]

= 2) Use the magic formula to find phi 7

» 2') Use the right triangle method like example 4 to fill in the matrix in #1

= 3) Change the xy equation to XY equation by plugging #1 and combining like terms
o c) Sketch the graph on the rotated axes.



Polar Cehigs ’
10.6 (P 800) 9~14 with reasons, #19.

e Py # 0 liv #34

« Barron's Model Test #3
o Students who wrote it before and want a new test, please get a green book in class. Final is still based on
Barron's.
« Show work for all 50 questions! (half credit if only letter answer)
« Please bring your SAT 2 Math Level 2 practice test book.
. Barron's Model Test #6 will be timed in class. The score will not affect your grade.
. If you have done Test #6 before, you will take another new test.
« Conic sections derivations worksheet.

Look through Barron's Model Test #3 to see if you have questions to ask tomorrow.
Final Ch. 5~11

« Half: Same as quiz questions

o 10.7,11.1~11.3, 11.6 based on HW

o Not tested: 10.5, 10.6, 11.4, 11.5 (maybe as bonus)
» Half: Picked from two SAT 2 _Practlce Tests

o Barron's Model Test # 6 and #3

at least +10% on final. If you forgot to take a worksheet, please print it out the bonus here.
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